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 آداب$#"!� و �ا
�ي �� ا�������ت ���
�ى ا�و�� ��ك 
�
 $�دة ا�������ت �� ا�	���ي -,ھ�#� ذ$* ا���ز : ا��
�ذ ���� 
	���� أ�

 
 $#"4 درس ا��01/

  
���� ��	رة 
� �� ر�	�� ����  ا��56رات:

��ن إ�	 ����	 و  إ�	  �	ط�	� ���!�   و ��
  ...... rأو  qأو  �p	دة #��	رة )'&% ا#!��ز 

 �0	#�	 �	 ���! �/ &.�.- ��	رة ),%ول ���
�� أن ا#��	رة  1ا#!�   ��	رة :1%ول &.�.- �� 

  �	ط�-                                             ���� أن ا#��	رة  ����0- و ا#!�  

  :ا��6#��ت 
#� ا��56رات

��3 ا#��	رة  :��7 
�5رة)1#  �!�    �!#	(  
5  4��نو�	
�	ط�- و 4��ن  ����- إذا 

 5�	
  ����-  �	ط�- إذا 
 1ا���ول و1%ول &.�.- ���8- ا#��3 ھ� : 


�5ر-�*)2 90
ھ�  qو  �p:9 ��	ر�4/ :

):   �!�  #>	 )	#!�  ا#��	رة ا#;� )qوp  �;#وا

4��ن  ����- <.= ا إذا 
	�5 ا#��	ر4	ن p  وq 
 	�� /�;����  

  2ا���ول ھ� :  1%ول &.�.- ا#�:9 ا#��:.�و 

�5ر-�*)3 :!�ھ�  qو  p<?� ��	ر�4/ :

)أو   q(:   ا#��	رة ا#;� �!�  #>	 )	#!�  p 

و  pوا#;� 4��ن  �	ط�- <.= إذا 
	�5 ا#��	ر4	ن 

q 	�� /�;ط�	�   
  3ا���ول و 1%ول &.�.- ا#3?� ا#��:.� ھ� : 

 qو  pاA;8 ام ��	ر�4/ : ا�
#>ام 
�5ر-�*)4

) :  ھ� ا#��	رة ا#;� �!�  #>	 )	#!�  )p q⇒ 

����- و  �p	ط�- <.= ادا 
	�5  وا#;� 4��ن

q -ط�	�   
  4ا���ول و1%ول &.�.- اAB;8 ام ا#��:.� ھ� : 

) ا#��	رة ::$?<=�ت  )p q⇒ " : 4.!أp 

 " q<	ن  p"     أو  " ادا 
	��4q   5;8 م 

)ا#��	رة :   )q p⇒ �����4� اAB;8 ام ا#�

)#AD;8 ام  )p q⇒  

)#�8!ھ	ن أن ا#��	رة :  )p q⇒-����  3;!ض�

 ����q- و ���/ أن ا#��	رة  pأن ا#��	رة 
-���� 

:@��
)ا#��	ر4	ن� )p q⇒ أووp                                          ن	;�>	�;�  


�5ر-�*)5 A��B-:  /�4ر	�� F>	�ھ�  و  4

):   ا#��	رة ا#;� �!�  #>	 )	#!�  )p q⇔ �;#وا

 و  4��ن  ����- <.= إذا 
	�5 ا#��	ر4	ن
و1%ول &.�.- ����;�/ ��	 أو �	ط�;�/ ��	. 

  5ا���ولاAB;8 ام ا#��:.� ھ�: 
)ا#��	رة :  )p q⇔" : 4.!أp  H>	�4q    "

  &.�.- ا#;�	<F ا#��:.�ھ� 15%ول
@�C�D :  ن	ر4	��ا#( )p q⇔  

)و )q p⇒   ( )p q �	<�;	ن         ⇒و;�                                  

���� دا#- ��	ر�- 
� �� :ا��56ر�@ ا��ا�@
ر�	�� ��;�ي �8� �;�K! (أو �%ة �;�K!ات ) 

 -��8�� -���,� ��;�� إ#�E  N�?4 O�&
 /� !?��( !�K;�#ا 	���� 	�8
 ��E	رة  

أو  و�!�  �	دة #%ا#- ��	ر�- )	#!�  

( )B x   أو( );A x y    

@��Bر�- :ا��56رات ا��	��ا#%ا#- ا# /� 	PD:�ا

( )A x "  رة	��ن ا#���  ( )A x,x E∃ ∈       "

 �PQا �xو�.!أ : " ��8� %1    

  /�E  -��	R#ا S.��( )A x رة	��ن ا#��" و4

" ( )A x,x E∃ ∈ �"  ����- إذا و8�  %1

 �PQاx    /�E  -��	R#ا S.��( )A x  

)ا�:PD	 �/ ا#%ا#- ا#��	ر�-  )A x "  رة	��ن ا#���

( )A x,x E∀ ∈/�x" و�.!أ : "�>�	 �    /�

E 	��%# ( )A x"  

) و4��ن ا#��	رة " )A x,x E∀ ∈    "

 !�	�� T��1 5�	
����E  S.�4- إذا 

 -��	R#ا( )A x.  

: @�C�D " رة	���3 ا#�( )A x,x E∀ "ھ�  ∋

)  ا#��	رة " )A x,     "  

)   ��3 ا#��	رة "   )A x,x E∃ " ھ� ا#��	رة   ∋

" ,   "

  
  
  

  
  

I. ت���Bا��  
  ا����B@ا��56رات  .1

)ا�:PD	 �/ ا#%ا#- ا#��	ر�-  )A x "  رة	��ن ا#���  ( )A x,

x E∃ ∈   �PQا �   x"     و�.!أ : " ��8� %1
  /�E  -��	R#ا S.��( )A x" رة	��ن ا#��)  " و4 )A x,

x E∃ ∈   �PQا ���.x   /�E  S"  ����- إذا و8�  %1
 -��	R#ا( )A x  

  
)ا�:PD	 �/ ا#%ا#- ا#��	ر�-  )A x رة	��ن ا#���  

"( )A x,x E∀ ∈      "  

  /��	  x   /�Eو�.!أ : " �>�	 ��%#( )A x"  

) و4��ن ا#��	رة " )A x,x E∀ ∈   5�	
  " ����- إذا 

 !�	�� T��1E  -��	R#ا S.�4( )A x. 

  

p
p

pp
p

p

q

pq

pq

( )A x

x E∃ ∈

( )A xx E∀ ∈

  

0 1 
1 0 

 1ا���ول 

   و

1 1 1 
0 0 1 
0 1 0 
0 0 0 

 2ا���ول 

   أو   

1 1 1 
1 0 1 

1 1 0 

0 0 0 

 3ا���ول 

      

1 1 1 
0 0 1 
1 1 0 
1 0 0 

 4 ا���ول

     

1 1 1 
0 0 1 
0 1 0 
1 0 0 

 5 ا���ول

   

1 1 1 
0 0 1 
0 1 0 
1 0 0 
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� ��	رة �/ ا#��	رات ا�4V-  : :1$	�ل -.�.& -��P د%&  
1. / 0x x∀ ∈ ≥ℝ  

2. "  2 4 0x − =,x∃ ∈ℕ     " 
3. ,    "  
4. ( );n n∀ ∈ ∈ℕ ℕ 

5. ( );
4

x
x∃ ∈ ∈ℤ ℤ 

: @��Fط�-   3) ����-  2) ����-  1ا�	ط�-   4) �	5) � -���� (  
  &%د ا#��	رة ا#�	<�- #8��	رات ا�4V-  : :2$	�ل

1( ( );n n∀ ∈ ∈ℕ ℕ    2  (( ) 2: 2 0
4

x
x ∃xو ∈ ∈ − =ℤ ℚ 

���رة 3� -�AF�#<\ة <� ا	1�4% �(  
4-�AF�#ر �0! �[�!ة <� ا	,^Qا �
(  

:@��F1ا� (( );n n∃ ∈ ∉ℕ ℕ  

2( ( ) 2: 2 0
4

x
x أو x∀ ∈ ∉ − ≠ℤ ℚ  

�0! ����رة 3 -�AF�#ا<\ ا�� �
( 
4 -�AF�#1�4% ^,!ة �[�!ة <� ا(  

II. @�����
�IIت ا��Iا 

�Iل  .1�Iا: �F�
1
�Iا 

22 )�/ أن :   #��/  $	�ل : 5 3 1 26x x< < ⇒ < + <    

2ا�1Q)- :�3;!ض أن :  5x< 23و���/ أن :  > 1 26x< + <  

 : 	��%#2 5x< 22اذن :  > 25x< <  
23اذن :  1 26x< + <   

 : _�22و� 5 3 1 26x x< < ⇒ < + <  

�Iل ����	�ل ا���Jد : .2�Iا 

  : )�/ ا#��	رة ا#;	#�- �	ط�- �T 4���8 ا#,�اب:  $	�ل

 "( ) 1
; 2x x

x
∗∀ ∈ + ≥ℝ

 
2x ��;�! : ا���اب : = −  : 	��%#1 5

2 2
2 2

− + = − <
−

  �	ط�- اذن :  

3. :A��B

�Iل ����Iا  
2)�/ أن :   $	�ل: 2 2a b ab+ ≥ ( ) ( );a b∀ ∈ ∀ ∈ℝ ℝ    

:F>	�  ا#,�اب :��;��� اB%;ABل )	#;
2 2 2 22 2 0a b ab a b ab+ ≥ ⇔ + − ≥ ⇔  

( )2
0a b⇔ − ≥  

  a1�� 	�bدا T(!�#ن اQ N��� وھ\ا  
 و)	#;	#� :

2 2 2a b ab+ ≥ ( ) ( );a b∀ ∈ ∀ ∈ℝ ℝ    


�Iل �7!: ا�I�Mت : .4�Iا  
ا#��	د#- : &� <� : )	A;��	ل اB%;ABل )3?� ا#�	Bت $	�ل:

  
3ا#,�اب :�%رس ا^	رة :  6x −  

  
2x : اذا 
	�5 :1ا#�	#-  3<	ن : ≤ 6 0x − ≥  : _�و�

 
  

3 6 1x − = ⇔3 7x = ⇔7

3
x S= ∈ ⇔  

2x : اذا 
	�5 :2ا#�	#-  3<	ن : ≥ 6 0x − ≤  : _�و�
 

  

( )3 6 1x− − = ⇔3 6 1x− + = ⇔3 5x− = − ⇔5

3
x S= ∈ ⇔  

 _��5,���- ا#��8ل ھ� : و� 7
;

3 3
S

 =  
  


�Iل ���"9# .5�Iا :  
�� ��!ھ/ أن ��	رة ����- �3;!ض أن ا#��	رة �	ط�- و��	ول # 

4�	T� dP ا#��:�	تا �  #�?�ل �8

)�/ )	A;��	ل اB%;ABل )	#98R أن :  :1$	�ل
2

2

1
1

1

x

x

− ≠
+

/x∀ ∈ℝ  

ا#,�اب : �3;!ض أن : 
2

2

1
1

1

x

x

− =
+

/x∃ ∈ℝ  

 ����2 21 1x x− = +  ����1 1− = + N��� !�0 وھ\ا  

 �Oط�D ن�R �1ه��
�أي : وT1$ $� ا
2

2

1
1

1

x

x

− ≠
+

/x∀ ∈ℝ  

 
  

² 1 0x + =x∃ ∈R

x ∈ℝ

p

p

R

( ) : 3 6 1E x − =

( ) : 3 6 1E x − =

( ) : 3 6 1E x − =




